
Wortspeicher 
 

Pascalsches Dreieck 

 



Reihe       Diagonale      Summe 
  

        hier: 4. Reihe      hier: 3. Diagonale     hier: Summe der 3. Reihe 

                                                                                                                                                          

 

 

1 + 2 + 1 = 4 
 

 



Dreieckszahlen  

 

 

 

 

1 + 2 = 3         1 + 2 +3 = 6 

 



          Quadratzahlen  

 

  
 
       

      

 

 

 

 

1    4    9     16    25 


